spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

1.5

0.5

Mean Spectrum
rm821

-IIIIIIIIIIHIIIIIII T T T T T T T I T T

arl
R

A (&) z = 3.51080

2000

RMS Spectrum

rm821 BLR 9800 NLR 900 km/s

. mnm l 1 |*" 1 s'llv "l 1 lll |l L+ 4

B0OO 1000

A (R) z = 3.51080

x(\t) = ( Data — Model A ) /o x

L % A AL ERE AR
A0 Il
A

‘\.‘LN\‘;“‘".‘J‘“ ‘Hw i it ”‘}‘1‘]1‘::“1 “\‘\":‘I“\\“\:\:\“\"“““\“‘l“‘ ‘ it ‘ i v;:‘g'g:“c“‘w i T u‘.[}“\"‘\guh“;‘:w“ “"";““1“ iy

bt |

BN B i
T A e bl
T T T
o ek
AL R
i il “-\‘l““"“‘\‘%“‘ o L o R LA A ST
T i A o b i Bl gl e e i i i A A
b T Mt e
AP 0 ML)
T A OO A AR ALY R R
Ml “:‘ el At R s ikt s A e ) ‘”“ju\'\‘
800 1000 1500 2000 peB.00
bad:3760=0.02% A (B) z = 3.51080
u = —0.037(28) x = 1.172(121) => 1.172(121)
rm821 med(mad) A
IIIIIIIIIIHIIIIIII T T T T T T T I T T
abs. v,-',.,-:Jghmrm‘vmtwﬁ'rﬂ}s'wm'
sk o \,,.m.rmm;wmu.-m‘,wmw 8
800 1000 1500 2000 e 800

A (R) z = 3.51080

-1

-2

f) (10717 erg em™2s7'87")
o}

Continuum Lightcurve

0.2
T
1
T

o L
sl 4
] -

10394 )
7500

13514
8000
MJD — 2450000

17558
8500

22808

9000

BLR Lightcurve

L L e E e e e LA B S ey B B S S S |
w L -
—
oL -
et

o

] L 4

m L 4
wn -
S Pl Tl S e ol Sl Bt S e s SRl Sl

MJD — 2450000

Corrections

1.3
13
[+
1=

-——rr7—rTr7—T
N
-
-
-
.
A T T R S

0.9
~
Q
o
o

7500 8000

MJD — 2450000

u = —0.07(43) x = 0.999(38) => 0.999(38)
med(mad)
— T 1

1.5

R —
7500
MJD — 2450000

Ac %



